Chapter Four: Digging the Fourth Grave for Naturalism – No “Dark Energy”
The Bible clearly states that God created the universe in six literal days. Yet, evolutionists proposed a “Big Bang” which does not need God as Stephen Hawking stated. The “Big Bang” theory was at first ridiculed by Fred Hoyle while he proposed the Steady State Theory of the Universe. He needed to find a steady supply of matter or energy somewhere in the universe to uphold the Steady State Theory. Since that source of supply of matter or energy has not been found. Fred Hoyle abandoned his own Steady State Theory in favor of the “Big Bang” Theory. But the “Big Bang” Theory is basically atheistic. It does not need God. This is the “particles-to-people” theory which fuels all evolutionary ideas, from non-life to life, from RNA to DNA, from single-cell to multi-cell organisms, from virus to bacteria, from bacteria to jelly fish, from jelly fish to bony fish, from bony fish to amphibians, from amphibians to reptiles, from reptiles to birds and mammals, and finally from mammals to man! All these are speculations and wishful thinking of evolutionists. To this date, none of the evidence of evolution is valid, including the “Big Bang.”

I have refuted “Big Bang” in Chapter Two. I also refuted the byproduct of “dark matter” in the “Big Bang” Theory. This chapter is devoted to refute the byproduct of “dark energy” in the “Big Bang” theory.
The “dark energy” was proposed to account for the expansion of the universe. This chapter will describe why expansion of the universe is impossible unless we have a source to provide the needed matter or energy. Since this has not been found, the expansion of the universe violates the basic universal laws of gravitation. I will demonstrate this mathematically later in this chapter. 

There is a difference between objects moving away from us and the space being expanded. Objects can move away from us when objects are driven by certain forces. Space expansion is another matter. Astronomers must determine what objects are moving away from us and why space is being stretched without violating the laws of gravitation.
The “Big Bang” scenario envisions that the initial unimaginable high temperature energy turned into matter and anti-matter. First of all, our high energy laboratories cannot turn energy into matter in an appreciable amount. Anti-matter is hard to come by. Less than 1% of anti-matter has been observed only momentarily. Anti-matter is hard to contain. A special magnetic bottle can only hold the anti-matter in a very short time. Any imbalance will turn the anti-matter back into matter. The same is true in the universe. We only observe real matter. Anti-matter is very elusive. I have seen speculations that there might be a universe composed of only anti-matter. That is 100% speculation because we do not see another universe. Our own universe has enough unknowns to be discovered and observed. 
The “Big Bang” Theory has another intrinsic problem. It proposes a hypersphere with no center. It theories that the expansion of space without also expanding the galaxies themselves. The analogy says that the galaxies are like copper pennies on a balloon. When we blow the balloon, the copper pennies will spread apart. Therefore, there is no center, and every other galaxy will see other galaxies are spreading away from it. This is the so-called “Cosmological Principle.” I will show that this is impossible based on the laws of universal gravitation. Actually, Dr. Robert Gentry found this out first. I simply confirm it and extended the calculations.
My calculations have shown that clusters of galaxies at the edges of the universe have more gravitational forces than the gravitational forces of our Milky Way Galaxy to our sun. If expansion of space is possible, then we should not see galaxies at all, because forces that can expand the space between clusters will also expand the space inside our Milky Way Galaxy. There should have been NO Galaxy! Because of this fact, the Cosmological Principle is wrong. We will never be able to verify other galaxies are spreading away from their own galaxies, because we will never reach another galaxy to verify this. Space travel to other galaxy is a dream only. A spaceship traveling at 20,000 an hour will take 170,000 years just to travel 5 light years! Other galaxies are millions of light years away from the earth.

Another consequence is that the Milky Way Galaxy is at the center of the universe because we made all observations from our own vintage point.

Dr. Robert Gentry published a paper in the Modern Physics Letters in 1998. He assumed that there are two clusters of galaxies with 500 galaxies in each. A cluster of galaxies is a group of galaxies gravitationally bound and it has anywhere from 50 to a thousand galaxies. He picked the middle number of 500 galaxies. He also assumed that each galaxy is about the mass of our own Milky Way Galaxy. Our Galaxy has a mass of about 200 suns. Our sun has a mass of about 2 x 1030 kg. The distance of our sun to the center of our Galaxy is about 8 kpc, which is about 2.5 x 1020 meters. He further assumed the mass of the Milky Way Galaxy is concentrated in the center of the Galaxy—a sort of center of gravity assumption. Without this assumption, the calculation will be impossible, because we must know the mass of individual stars in the Milky Way Galaxy, and there are 200 billion of them. No one knows all the individual mass of each star in our Milky Way Galaxy. Therefore, the assumptions are sound and reasonable. Engineers and scientists do this all the time to get reasonable estimates. Dr. Gentry published his result as 1010. That means the gravitational forces between two clusters of 500 galaxies at 100 million light-years apart is 1010 greater than the gravitational forces of the Milky Way Galaxy to our sun. If a force great enough to expand the two clusters of galaxies 100 million light years apart, then this same force would have pulled apart all stars within our own Milky Way Galaxy. My own calculation is more accurate. I came up with the figure of 3.4 x 109 times and not 1010 because I used the published values for the mass of the Milky Way Galaxy, and Dr. Gentry estimated the mass of the Galaxy.
Further, I separated the distance of the two clusters of galaxies to 200 million light-years. I obtained a value of 8.5 x 108 times. I separated the distance of the two clusters of galaxies to 2 billion light-years. I obtained a value of 8.5 x 106 times. I separated the distance of the two clusters of galaxies to 20 billion light years. I obtained a value of 8.5 x 104 times. 20 billion light years is greater than the radius of the universe. Finally, I separated the two clusters to the impossible distance of 200 billion light years, which is far greater than the diameter of the known universe by more than six times. I still obtained a value of 851 times. That means the expansion of space is not possible without also expand our own Milky Way Galaxy to non-existence!

Next, I reduced the number of galaxies to only 40 galaxies, which is the estimate of Our Local Group of galaxies, of which the Milky Way Galaxy is a member. 200 billion light years separation yields a factor of 5 times greater than the forces within our Milky Way Galaxy to our sun, meaning that expansion is truly impossible, otherwise our own Milky Way Galaxy should have disappeared long ago.

Furthermore, I reduced the number of galaxies in the cluster, from 50 galaxies, to 40 galaxies, to 20 galaxies, and finally to only 2 galaxies. I also used the final realistic separation to 30 billion light years, which is the estimated diameter of our own universe. All of them show that it is impossible to expand the space without also making galaxies disappear, except in the case of only 2 galaxies at the edges of our universe. For a proper cluster of galaxies, we need to have many more than only 2 galaxies. Our word is final: No expansion of space is possible without also making our galaxies to disappear!

Actually, expansion of space also needs a steady supply of energy or matter, which can only be provided by an Einstein white hole. So far, no white hole has been found yet, because white hole only existed in the beginning of the universe. 

Although galaxies are moving, they are not moving very fast according to cosmic standards. If galaxies are moving very fast, we should see galaxy centers move towards the direction of motion of the galaxy. This has not been observed, meaning that galaxies are not moving very fast. The center of our Milky Way Galaxy is moving towards the Virgo Cluster with a velocity of about 90 km/s. The Local Group in which our Milky Way Galaxy is a member, speeds are about 100 to 400 km/s towards the Virgo Cluster. The Virgo Cluster is about 60 million light-years away from us. We will never get there. Space travel is a dream only. It will take 170,000 years to travel just 5 light-years if our spaceship travels at 20,000 an hour. Bear in mind that one light year is about 6 trillion miles.
Another issue is galaxy velocity dispersion. Inside the Local Group, galaxy velocity dispersion is about 72 km/s. This is also true for dwarfs and giant galaxies. Since the distance of the sun to the center of the Milky Way Galaxy is about 8 kpc, which is about 2.47 x 1017 km, the time for the Milky Way Galaxy to disappear is about 100 million years! Therefore, even using the conventional measurements, our universe cannot be older than 100 million years old.
How can a theory that only knows 4% of the universe be true? The contents of the “Big Bang” contains only 4% of known normal matter, and 22% “dark matter,” and 74% of “dark energy.” The “dark energy” has been proposed to account for the rapid expansion of the universe. If the universe is not expanding, then the 74% of “dark energy” will also not be needed, because expansion requires the input of energy, while the source of energy is unknown. Space expansion involves the loss of energy. There is another issue: The expansion that astronomers are measuring belong to the expansion of the past, because they are looking back in time. 

If we take the Hubble’s Law literally, we will get some strange speeds at the edge of the universe. It is commendable that Edwin Hubble found close by stars in our own Milky Way Galaxy are separating from us. He also found most galaxies are separating from us. He formulated the law: v = Hr, where v is the velocity, r is the distance of the moving star or galaxy, and H is the famous Hubble constant. This constant has been measured to vary somewhat. Someone said that it is a Hubble variable.
If we take the Hubble constant to be equal to v/r, we can estimate the Hubble constant to be 71km/s/Mpc. Astronomers use parsec to measure distance instead of light-year. One parsec is equal to 3.26 light years. One Mpc is equal to 3261568 light-years or about 3.26 million light-years. For the non-expanding universe, its radius is about 13.75 billion light-years. When we divide this by one megaparsec, we get a factor of 4215 in one second. The speed of light is known to be about 300,000 km/s. 71 x 4215 = 299,319. Since the speed of light is about 300,000 km/s, the percentage is 99.77% of the speed of light. This is clearly impossible! Why? It is so because Einstein’s Special Theory of Relativity. Einstein’s Special Theory for mass increase applies to all moving objects. I have calculated that a moving 2000-lb car with a speed of 60 mph, or 100 km/h will increase its mass by 7.727 x 10-9 lb. or 2.884 x 10-9 kg.
For a galaxy with 200 billion suns’ mass, the increase in mass is unbelievable. A 5% increase in mass will correspond to 30% of the speed of light. Its mass increase is 10 billion suns! Therefore, for galaxies’ redshifts of over 30% of the speed of light are impossible! The same is also true for QSOs, the quasi-stellar objects. Redshifts exceeding 30% of the speed of light must be corrected to make them credible. Some astronomers have done that. The latest and fastest redshift exceeds 7. That is 7 times the speed of light! I will study this subject in the next chapter of this small book.
QSOs are usually very far away from the earth. And, as such, their redshifts are large by comparison. The Sloan Digital Sky Survey has mapped over 20,000 QSOs. Most of which have high redshifts, meaning that these objects were there early when the universe started. The astronomer Karlsson has made corrections to these QSOs’ redshifts. After making these corrections, these QSOs’ redshifts become quite realistic. The table shows QSOs redshifts range from 0.05 to 0.23 when compared to the speed of light. 

In 1996, the Israeli physicist Moshe Cameli modified Einstein’s field equations to include velocity v as a dimension. In so doing, he basically incorporated the expansion of space as a function variable. That is to say that the space is proportional to velocity of expansion. Whether he is aware of an Einstein white hole or not, the expansion fully accounts for the increase in matter in the universe. The beauty of the new mathematics has done away “dark matter.” If the universe is not expanding now, then even “dark energy” is not needed. 

During 2002 to 2007, the Australian physicist John Hartnett provided solutions to the modified Einstein’s field equations. The results show that the universe has expanded over a short time in the beginning. The potential hill was very large initially, but it decreased rapidly. The early universe has an Einstein white hole with our Milky Way Galaxy as the center. Therefore, if the white hole did exist in our own Galaxy, steps should be taken to find it in our own Galaxy. Maybe it has left some footprints somewhere in our Galaxy. Practically all star types can be found in our own Galaxy except Population III stars, which are problematic for the “Big Bang.” The Population III stars are supposed to be the earliest stars with gas clouds. If the universe was started with a “Big Bang,” we should see billions of these objects at the farthest end of the universe. Our best telescopes have not found even one of these Population III stars.

Also, there should more and more stars at the farthest edges of the universe. So far, these have not been found, meaning that the “Big Bang” has never happened. 

In summary, in day 1, God created gravitation and electromagnetic energy. Then God formed the earth from water. In day 2, God separated the waters into two hydrospheres. In day 3, God separated the land and water. Plants were also created. In day 4, God created the stars to rule the day and the night. God also stretched out space. He created galaxies. God may have used an Einstein white hole to do this. 
The Einstein white hole was first proposed by Russell Humphreys in 1994. He solved Einstein’s equations using two different assumptions that “Big Bang” enthusiasts do. Humphreys assumed that the universe has a center and also has boundaries. He used several lines of evidence to come up with these assumptions. The two massive sky surveys suggest that we are near the center of the universe. This is true for both galaxies and for QSOs. We are near the center of the universe with systematic non-random shells of about 100 million light years apart. The universe has a boundary is based on pure blackbody radiation. For the background radiation to be valid, we need a spherical boundary at the edge of the universe.
To harmonize Russell Humphreys’s white hole cosmology, John Hartnett’s solution to Cameli’s modified field equation, and Robert Gentry’s non-expanding universe, we need all these results to build a better picture of the universe. A white hole continuously created matter in the beginning of the universe. For conservation of matter, we need the white hole to provide the needed matter for the initial expansion of the universe. The fact that the universe is not expanding now because there is no white hole now. So far, we have not been able to detect even one white hole. By using the modified field equations of Cameli, Hartnett neatly has evaporated “dark matter.” He made “dark matter” to disappear. “Dark energy” is not needed because the universe is not expanding. 
We now live in a galactocentric universe, because God wants us to observe the universe to glorify Him.

It is interesting to note that there are other odd theories in vogue. Atheists have been working hard to dismiss the wonders of God. Schemes of eternal matter have been invented. However, the concept of eternal matter can be traced to Greek philosophers. It is basically a religious concept. Some atheists invented the concept of multiverse. It must be stated that multiverse exists only in the minds of atheists. We have not known enough of our own universe, nevermind other universes. There is absolutely no evidence for multiverse. Atheists can be drunk in fantasies of multiverses. But please do not call it science, because there is zero evidence for it. That is why the Psalmist said “The fool has said in his heart that there is no God” about 4000 years ago. The Psalmist also said that “the wicked in his proud countenance does not seek God. God is in none of his thoughts.”

A question often raised about the fact that how could light from billions of light years away could reach the earth in a few hours. Cameli’s solutions to Einstein’s modified field equations give us the answer. The clocks on the earth during the fourth day was slowed down due to extreme time dilation. Clocks in the universe were normal. After the expansion of the universe, normal clocks tick on the earth as well as in the universe.

A mathematical function can describe this in detail. After the physics has been put in, the expansion of the universe has taken place less than 10 days to reach the present size of the universe, although the initial expansion started in day 4 of creation. 
Einstein’s general relativity also predicts a white hole. In 1994, Dr. Humphreys found out the white hole by solving Einstein’s field equations. He assumed that there is a center and there is a boundary in the universe. The white hole started at the beginning of the universe. The white hole gave off matter and energy. The white hole became highly active during the fourth day of creation, in which the universe expanded trillion and trillion fold. Gradually, the white hole decreased in activity. It appears that the white hole was fully expanded after 10 days. That is why it is difficult to find it now. Maybe there is a white hole footprint somewhere in the Milky Way Galaxy. Astronomers will acquire more high power telescopes to find it. 
In summary, we live in a galactocentric universe with our galaxy as the center. One solution of Einstein’s field equations allow a finite expanding white hole with our Galaxy at the center in the past. Observations from two large galaxy surveys indicate that we live at the center of concentric spherical shells of galaxies with a spacing of about 100 million light-years. Observations also indicate that quasars are distributed at discrete redshifts. These quasars are much closer than their redshift distances. They are also distributed on concentric spherical shells. 

The universe was created for a purpose—we are here to observe the Creator’s glorious creation all around us. 

We give all glory to the Almighty Creator God, because “For in six days the Lord made the heavens and the earth, the sea, and all that is in them and rested the seventh day. Therefore, the Lord blessed the Sabbath day and hallowed it.”

To summarize, life must be created by God. This is a conclusion from science.

The “Big Bang” never happened.

There is no “dark matter” or “dark energy” needed.

Finally, the Bible is trustworthy in both science and in faith! Let us walk close to Him according to the Scriptures.

